RS Aggarwal Solutions for Class 10 Maths Chapter 3 Exercise 3.5: The academic team of
Physics Wallah has produced a comprehensive solution for Chapter 3 of the textbook RS
Aggarwal Class 10 Linear Equations in Two Variables. The RS Aggarwal class 10 solution for
Chapter 3 Linear Equations in Two Variables Exercise-3E is uploaded for reference only; do not
copy the solutions.

Before going through the solution of Chapter 3 Linear Equations in Two Variables Exercise-3E,
one must have a clear understanding of Chapter 3 Linear Equations in Two Variables. Read the
theory of Chapter 3 Linear Equations in Two Variables and then try to solve all numerical of
exercise-3E. It is strongly advised that students in class 10 utilize the NCERT textbook to solve
numerical problems and refer to the NCERT solutions for maths in class 10.

RS Aggarwal Solutions for Class 10 Maths Chapter 3
Exercise 3.5 Overview

RS Aggarwal Solutions for Class 10 Maths Chapter 3 Exercise 3.5 provides a comprehensive
overview of linear equations, a fundamental topic in mathematics. This exercise focuses on
solving linear equations with one variable, which is essential for understanding more complex
algebraic concepts. The solutions offered are meticulously crafted to guide students through
each step of solving equations, ensuring clarity and reinforcing problem-solving skills.

By using these solutions, students can effectively practice and master the techniques required
to solve linear equations, thereby laying a strong foundation for further mathematical studies.
Overall, RS Aggarwal Solutions for Chapter 3 Exercise 3.5 serves as a valuable resource for
students to enhance their understanding and proficiency in handling linear equations.

RS Aggarwal Solutions for Class 10 Maths Chapter 3
Exercise 3.5

Below we have provided RS Aggarwal Solutions for Class 10 Maths Chapter 3 Exercise 3.5 for
the ease of the students —
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We know that the general form for a pair of linear equations in 2
variables x and y is aix + bi
and azx + bz}" +
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We know that the general form for a pair of linear equations in 2
variables x and y is aix + biy + c1 = 0







3p=3
=>p=1

We know that =



i) For the given system of equations to have a unique solution,




Substituting values in terms of B in equation (1),
B/2 + B + 3B = 180°
B/2 + 4B = 180°
B(9/2) =

variables
and axx + bay
Comparing with above e



wehaveai=5 bi=7,c1=-195;az=7,b2=5, c2 =- 153
We can solve by cross multiplication method using the formula

Fordx -3y +1 =
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And B + D = 180°
=5+ 1y +5 =180




Question 18.
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Let us put
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=22x-y-5=0..(2)
We know that the general form
variables x and vy i
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Question 20.

Solution:

Given:?—% = @

ax - by'= 2ab ... (2)

Multiplying by ab to (1) and a to (2), we get
a?x - b?y = a%b + ab? ... (3)

a?x - aby = 2a%b ... (4)

Subtracting equation (4) from equation (3),
(a’x — a?x) + ( - aby) - ( - b%y) = (2a%b - a?b) - ab?
= - aby + b%y = a?b - ab?

= by(b - a) = ab(a - b)

=y =Db(b-a)/ab(a-Db)

>y=-a

Substitute y value in (2),

ax - b( -a) = 2ab

= ax + ab = 2ab

= ax = ab
=>x=D5b
The solutionis x = b andy = - a.

Benefits of RS Aggarwal Solutions for Class 10 Maths
Chapter 3 Exercise 3.5

RS Aggarwal Solutions for Class 10 Maths Chapter 3 Exercise 3.5, which deals with linear
equations, offers several benefits for students:



Comprehensive Coverage: The solutions provide a thorough explanation of each problem in
Chapter 3 Exercise 3.5 of RS Aggarwal's textbook. This ensures that students understand the
concepts and methods required to solve linear equations.

Step-by-Step Solutions: Each solution is presented in a step-by-step manner, making it easier
for students to follow the logic and sequence of solving linear equations. This helps in
developing problem-solving skills.

Clarity and Understanding: The solutions are designed to clarify any doubts or confusion that
students may have regarding the application of concepts related to linear equations. This clarity
enhances the understanding of the subject matter.

Practice and Revision: By using these solutions, students can practice solving various types of
linear equations, which is crucial for reinforcing their learning and improving their proficiency in
the topic.

Exam Preparation: Since the solutions cover the entire exercise comprehensively, they serve
as an excellent resource for exam preparation. Students can use them to revise the chapter
thoroughly and prepare effectively for tests and exams.

Self-Study: These solutions enable students to engage in self-study effectively. They can
attempt problems independently and refer to the solutions to check their answers and
understand any mistakes they might have made.

Accessibility: The solutions are readily available in the RS Aggarwal textbook or can be found
in supplementary materials online, making them easily accessible for students to use at their
convenience.



